Tuesday, February 7, 2017 11:30 PM

' i>Clicker:

The moment of a couple is called a vector.
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Wednesday, February 8, 2017 10:23 AM

-
i>Clicker: Which system has the largest moment?
100 Ibs
(A) ‘_l (B)
12 in. \
Y
MER R A g
0 \, (\2 “\L\\)Q\\"\z’_w\
AL _'\(‘fQo
150 Ib-in |
©) %o ) (D)

50 lbs
——
6 in.
0%
6 in.
—ly

50 Ibs

200 Ibs

‘ 12 in. ‘
—

200 Ibs

N

Ch. 4 Page 2

O\
Vv




Page 20

Tuesday, January 31, 2017 10:53 PM

Problem

Replace the force and couple system by an equipollent force and
couple moment at point Q.
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What is the equivalent system?
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Tuesday, January 31, 2017

/Replace the for

ce system acting on the post by a resultant
force and resultant moment about point A.
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Tuesday, January 31, 2017 10:53 PM

Replace the force system acting on the post by a resultant
force, and specify where its line of action intersects the

pos? AB measured from po@
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Tuesday, Janua

ry 31,2017 10:53 PM

~

sact on the circular plate

svstem Dy aTe

(M R)o about the origin.
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